CBRT-23.09.2018
GAT(Store Officer)

1.
Which one of the following parts of the sentence “When I reached her office for a favour I
found that she already left for my home to meet me,” has an error?

(a) When I reached her office for a favour

(b) I found that

(c) she already left

(d) for my home to meet me

2.
Which one of the following parts of the sentence ‘Political parties have played a major role
about the political transition in India,” has an error?

(a) Political parties

(b) have played

(c) amajor role

(d) about the political transition in India

3.
Which one of the following parts of the sentence ‘Nobody really tells you how tough it
actually is to socialist, especially when you are in a city,” has an error?

(a) Nobody really tells

(b) you how tough

(c) it actually is to socialist,

(d) especially when you are in a city

4.
Which one of the following parts of the sentence ‘Literature is a great way to study others
human beings, cultures and past societies,” has an error?

(a) Literature is a

(b) great way to study

(c) others human beings,

(d) cultures and past societies

5.
Which one of the following is the appropriate question tag in the sentence ‘There cannot be
any such practice in administration, ’

(a) Can’t there be?

(b) Can there be?

(c) Won’t there be?

(d) Is there be?

6.
Which one of the following is the appropriate questlon tag in the sentence ‘She is responsible
for all the chaos that happens now,
(a) wasn’t she?
(b) 1sn’t she?
(c) doesn’t she?
(d) won’t she?




7.
Which one of the following is the appropriate question tag in the sentence ‘You have been
able to accomplish the task successfully,
(a) have you?
(b) isn’t it?
(c) haven’t you?
(d) aren’t you?

8.
Which one of the following is the appropriate question tag in the sentence ‘Indian athletes
have brought laurels to the country with their medals, ’

(a) haven’t they?

(b) have they?

(c) aren’t they?

(d) weren’t they?
9.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘There is no single way in life, we need to pass through many a HURDLE’?

(a) Impediment

(b) Ways

(c) Delusion

(d) Dangers

10.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘The use of effective IMPLEMENTS was accompanied by an improved knowledge
of cultivation and of a variety of crops’?

(a) Instruments

(b) Techniques

(c) Applications

(d) Plans

11.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘Ragavi’s INGENUOUS nature makes her different from others’?

(a) Haughty

(b) Rude

(c) Innocent

(d) Thinking
12.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘The activities of the group appear to be very FARCICAL’?

(a) Encouraging

(b) Ridiculous

(c) Far fetching

(d) Fatigue



13.
Which one of the following phrasal verbs may be used in the blank space in the sentence
‘They were to surrender’?

(a) called for

(b) used up

(c) put out

(d) put away

14.
Which one of the following phrasal verbs may be used in the blank space in the sentence
“The students their teacher 20 years after they left the school’?
(a) called on
(b) called out
(c) called in
(d) called for
15.
Which one of the following phrasal verbs may be used in the blank space in the sentence
‘The doctor advised him to eat well and weight’?
(a) putin
(b) putup
(c) put on
(d) put away
16.
Which one of the following phrasal verbs may be used in the blank space in the sentence
“Don’t , work hard to achieve success.” Said the visiting speaker’?
(a) give in
(b) give up
(c) give out
(d) give away
17.

Which one of the following is the antonym of the word written in capital letters in the
sentence ‘He has been living in DELUSION for years’?

(a) Certainty

(b) Hallucination

(c) Falsehood

(d) Contradiction

18.
Which one of the following is the antonym of the word written in capital letters in the
sentence ‘The innocent was PENALISED for no mistake of her own’?

(a) Reprimanded

(b) Punished

(c) Pardoned

(d) Awarded



19.
Which one of the following is the antonym of the word written in capital letters in the
sentence ‘His past blunders were CONDONED’?

(a) Excused

(b) Condemned

(c) Praised

(d) Overlooked

20.
Which one of the following is the antonym of the word written in capital letters in the

sentence ‘Evidence against her in the case of cheating was FABRICATED’?

(a) Destroyed
(b) Invented
(c) Designed
(d) Engineered

21.
A distance ‘X’ km is covered by two different trains with velocity v km / hr and kv km / hr in
y and y+3 hours respectively. If y < 13 then k is less than:

(@) 2
(b) =
OF

(d) =

&I 376137 JeTeT YN SAT GaRT “X° km &7 TS g3T v km / hr AT kv km / hr 3 997 F A y
ARyB g HFITT RIS E. I y < 13 §, A k FT AT eafoi@d H & fraa s 8 2
(a) =
OFs
(0) =

(d) =

22.
In a family the age of the father, mother, son and grandson are A, B, C and D years
respectively. Given that A — B =3 years, B + C = 78 years, C + D = 33 years and the
average age of the family is 34 years, then B —Cis:

(a) 19 years

(b) 20 years

(c) 21 years

(d) 22 years



U IRAR & o, AT, 97 3R 91 B 3G FAM: A, B, CIRD a¥g. eararang i A
~B=3d¥, B+C=78aY, C+D=33a¥¢ 3R IRAR &I AT 3G 34a98, AB-C¥

(a) 1939
(b) 20 TY
(c) 21aY
(d) 22 aY

23.
In 2004 DG High School had 60% boys and 40% girls as students. In the next five years
number of boys decreased by 10 % and number of girls increased by 10 %. What is the
change in total roll strength in the five years?

(a) 3 % increase

(b) 2 % decrease

(c) No change

(d) 5 % decrease

2004 H DG T8 Tt o [aeaiddl # 60% ofseh 3N 40% wTsferar o, 3erel e asi &
TSRl hl TEAT 10 % el gl 375 3 oI3fha I TEAT 10 % 6 I15. ST ITT INT H ATHIT T
HEAT H Pl fohelel tlﬁﬁ?—‘lﬁgm?

(a) 3%dfg

(b) 2 % FHHAT

(c) IS IR =TT

(d) 5 % HHAT

24,
During his stay in a hotel, Mr. X paid Rs. 47 for tea and coffee. If tea costs Rs. 5 per cup and
coffee costs Rs. 8 per cup, which one of the following statements is correct?

(a) He drank 8 cups of tea and coffee in total

(b) He drank equal cups of tea and coffee

(c) He drank more cups of tea than cups of coffee

(d) He drank more cups of coffee than cups of tea

Teh gl H Sg<el o aIel, AHATT X & =1 3R ST & Ty 47 SU a7 8797t foha. afe
IT F HAT 5 T9F 9fad 9 31K S & Fad § s gfa 9 §, O Feafef@a d a
Pl AT HUT Tel 87

(a) 3= el 8 Y R IR HIhr Y

(b) 3T T 3R AT & ST 9 O

(c) 3T SHIthT oh Sl & JolelT 7 T & Y 31Terh T

(d) 3E T o YT hT Telell H T oy 37Tereh O




25.
In a certain language A x B means A is the wife of B, B y C means B is the son of Cand P z
Q means P is the sister of Q, then which one of the following means that L is the daughter of
M?

(a) MzNyTxL

(b) MxNyTzL

(c) LyTxNzM

(d) LzZTyNxM

fre v eI A Ax BHRI T fh A, BRI alcT g, By CH HT g T B, CH I g AR
PzQHATEFP, QR Tea g, @A g ta m aT Ig T ™F L, M
e

(a) MzNyTxL

(b) MxNyTzL

(c) LyTxNzM

(d) LzZTyNxM

26.
Which one of the following will be the next term of the sequence {3, 7, 16, 35,7,--- }?
(a) 44
(b) 54
(c) 64
(d) 74

37Ishd (3,7, 16, 35,2, | T 3Tl Ue, Ae=ATI @ 7 & ahlet AT g1 2
(a) 44
(b) 54
(c) 64
(d) 74

27.
The area of a sector of a circle of radius 10 cm formed by an arc of length 10 cm is:
(a) 10 T cm?
(b) 15 & cm?
(c) 25 cm?
(d) 50 cm?

10 cm T3S2T ATl Teh Feed A, 10 om SFETS I Teh 1T SN FA1 I YeheX T &1 &

(a) 10 & cm?
(b) 15 © cm?
(c) 25 cm®
(d) 50 cm?



28.
Consider the following figures:

Given a map X, n(X) denotes the minimum number of colours required to colour X such that
any two adjacent regions (having common boundary) are coloured by different colours. If Y,
Z and W are maps as displayed in the figure given above, then n(Y), n(Z) and n(W) are
respectively:

(a) 4,3 and 3
(b) 3,3 and 3
(c) 3,4and 2
(d)4,4and 3
a1 T@fRE W TR FifSw:
Y= Z 4 W=

f&2r a1 wes 7Y X & ford, n(X), X T Tt & ford 3mmaeaes T it 30 ~geias a&am &l
ZATAT § 9 X &Y 5T g T IAT 81 foh s oY aF HeldaT (3mTe+T) &1 (F1d IRIAHAT are)
e e TN A @ g 3Ty, 2 3R W IR A T R & Ruy sy = &, a
n(Y), n(Z) 3R n(W) & § -

(a) 4,3 3R 3
(b) 3,3 33
(c) 3,4 32
(d) 4,4 3R 3



29.
The collections of men, women, cricketers and politicians are indicated respectively by
region of the following shapes:

C1 LT o 2

The region marked as X in the following figure indicates:

(A

(a) Women politicians who are not cricketers
(b) Women cricketers who are also politicians
(c) Women cricketers who are not politicians
(d) Women politicians who are cricketers

&S, A3, fohehe TGSl 3R ATl & THT I ShaA2r: 3T 3hRT & &1
CaRT GRITAT AT §

C L O 2

foieT 3mepfl # X gary Rifegd &7 Fargiiarg 2

(A

(a) BFET TR S e (e et &
(b) AfEeT fFare TS A Tl o &
() T e FEraTST S T e Y
(d) Afger TafA = 3 fohere @S &

30.
A bank announces that the interest rate will be very high for coming two years. If compound

. . N B . .
interest, compounded annually in two years, is 15 times the simple interest of the same

amount with same rate of interest in two years, then interest rate is:
(a) 100%
(b) 200%
(c) 300%
(d) 400%



Wa’%ugaﬁwm%%sﬂﬁrmﬁaaﬁasﬁﬁmaﬁrﬁagﬁﬁaamﬁuﬁ
fohdll CeTITRT IR aTf¥eh TR 9T ST 9147 <Ashd g SATST &F aNt &, 38T Gy o 348

SITST &T A 1S I &Y IuT & FTROT sATST T 1% AT &, ol STTST & foheTar & 2

(a) 100%
(b) 200%
(c) 300%
(d) 400%

31.
Three teams P, Q and R played against each other equal number of matches. The following
Tables show the number of wins:

P Q P R Q R

6 4 5 5 2 8

Which one of the following statements is correct?
(a) P lost 55% of the matches
(b) Q lost 70% of the matches
(c) R won 35% of the matches
(d) Q won 20% of the matches

et &A1 P, Q 3R R & TargE & faeg sre) §&am & A9 ol At arfereit s a3
ﬂﬁfﬁrﬁwa&ﬁ?ﬁ%:

P Q P R Q R
6 4 5 5 2 8
AT F aRT T FAT TEE 2

(a) THP, 55% HIT R IS
(b) EF Q, 70% HTFR IS
(c) ETRA35% HT A
(d) AT Q 7 20% FH s

32.
There are two types of rice. Type I is sold for Rs. 10 per Kg whereas type II is sold for Rs.
100 per Kg. A seller mixed these two types of rice and sells for Rs. 80 per Kg. If there is no
change in the profit of the seller, then proportion of the two types of rice is:

(@ 1:1

(b)7:9

(c)2:7

(d)9:16



I IR & 1T &. ThEH [ & I1ae 10 T Ui fhel AT AT Ad & Fafp fhem 1 &
TAraT 100 T 9T fohell T a7 T 9D ST &, Teh fFshdT & ST bR & Aradl [&err e
JUT 30% a8 80 TIY YT fohell I X & daar §. IT fashdT o et & 1S IRadeT o181 grdm

€, Al alal ST o TTaell & 3TeTaTel fehelalr £7
(@) 1:1
(b)7:9
(c)2:7
) 9:16

33.
Which one of the following is the sum of the first 55 terms of the series

1 1 1 1
—t—+t—+—+ .. ?
1x2  2x3  3x4 = 4X5

(@) 1
(b) -
(©) =
(d) =

rofy

1 1 1 1
—t—t—+—
1X2 2X3 3X4 4x5

& TUH 55 eI &l A9Th, eafaf@a A Riaarg ?
(a) 515
(b) =
(0) =

(d) =

34.

In a 1000 meters race, ‘A’ beats ‘B’ by 35 meters or 7 seconds. Which one of the following
was A’s timing over the course?

(a) 200 seconds

(b) 196 seconds

(c) 193 seconds

(d) 190 seconds

1000 HreT FHr Th A5 F, “A”, ‘B’ &I 35 HeX 31aT 7 ¥hs & g ST & T als & alret A
I IAY TAFATTld A & fohdair @12

(a) 200 THS

(b) 196 T3S

(c) 193 TS

(d) 190 THs



35.
The cost price of an article is Rs. 100. If the article is sold at a discount of 18% and then there
is a tax of 18%, what is the selling price of the article including tax?

(a) Rs. 100.00
(b) Rs. 98.46
(c) Rs. 96.76
(d) Rs. 90.50

Tl a&c] T v T Hed 100 T9A 8. T €T Y 18% I F& I ST SI1cT & 3R o 3H N
18% T & &, oY T b TATRT o] T fashd Hed fohcar g 2

(a) TIF 100.00
(b) TI 98.46
(c) TAT 96.76
(d) TFF 90.50

36.
The number of ordered triplets of positive integers which are the solutions of the equation
xty+z =10 is:

(a) 49
(b) 36
(c) 25
(d) 16
3T EeTTcHh qUITehl & ShATITC THehT ehT HEIT AT §, S FHIPIOT x+y+z = 10 H ol 87
(a) 49
(b) 36
(c) 25

() 16



37.

In an examination ‘R’ got more marks than ‘M’ but not as many as ‘P’. ‘P’ got more marks
than ‘G’ and ‘K’. ‘G’ got less marks than ‘M’ but his marks are not the lowest in the group.
Who among the following is second in the descending order of marks?

(a)P

(b)K

(c)R

(d) Can’t be determined

oY 9dreTT # R° &F ‘M° ﬁm%cﬁrg@aﬁmmaﬁ%aﬁ%?’ a#rl;w-r'g“tr.
P’ AN G K A oA H 3TAH 376 9T §U.°G” HN M H FA 3 e 'g“tfu’a%g
3 37 G H G FHH 81 8. 3l & 30w A, Reafaf@a A g el gfada g 2
HK

(©R

(d) TR 18T fohar 1 Iehar

38.

In an examination, 43% passed in Mathematics, 48% passed in Economics and 52% passed in
Statistics. Only 8% passed in all the three subjects. 14% passed in Mathematics and
Economics and 21% passed in Mathematics and Statistics and 20% passed in Economics and
Statistics. Number of examinees who took the examination is 300. The number of examinees
who passed only one of the subjects is:

(a) 57

(b) 63

(c) 114

(d) 171

Ueh 98T A, 43% qfrwaﬁmﬁ?rﬁwg@, 48% Hafram—?rﬁtrmg(rsﬂwz%xr‘r%aﬁﬁ
W@.Wg%aaﬁzh?ﬁ%qﬁﬁwgm 14%?rfa?rsﬂtsfafremﬁtrm§tr,3ﬂ?21%
mﬁasﬂw@%&eﬁrﬁwg&raﬂizo% Ha&amsﬂwﬁﬁ;aﬁrﬁwgm qY&TT o dTel
TeTIIAY &1 TEAT 300 §. Shdol Uah &Y [awT # urd gl arer gdrenfaay i gear fraer 82
(a) 57
(b) 63
(c) 114
(d) 171

39.

What is the number of numbers between 200 and 400 such that when they are divided by 6, 8
or 9 it leaves in each case a remainder 3?

(@)1

(b) 2

(c)3

(d) 4



200 3R 400 F T 37 PR T fordsiy TEIAT § [oies I 6, 8 372ar 9 ¥ fysniara forar
ST geds FRufa & A9wher 3 812

(a) 1
(b)2

()3
(d)4

40.

‘A’ can run 330 meters in 41 seconds and ‘B’ in 44 seconds. By how many seconds will ‘B’
win if ‘B’ starts from 30 meters?

(a) 1 second

(b) 2 seconds

(c) 3 seconds

(d) 4 seconds

A, 41 AFs H 330 Hiex &ls Thar & 3R B, 44 T F 330 #HeX is Favar §. I B, 30
HIeT A SISl YF AT &, A1 I8 foheel dehs & il Seam 2

(a) 1 Ths

(b)2 AH3

(c)3 TS

(d) 4 OHhs

41.
Which of the following statements relating to India-Palestine relations is / are correct?

1. The Prime Minister of India visited Palestine in February 2018

2. During this visit India and Palestine signed six Memorandum of Understanding
(MoUs) for cooperation in the field of infrastructural development in Palestine

3. This was the first ever visit to Palestine by an Indian Prime Minister in 30 years

Select the correct answer using the code given below:
(a) 1,2 and 3
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1 only

R - Thforediar Tyl & TR H Fe=ITaf@d & & Sl avd :u T8l g/8?
1. HRd & THUHAHAT & BIaT 2018 H Thleredtsr hr amar fr
2. B HHT & eRIeT 7R AR Thfereder =, feferedier & 3mearfes axger
I & &1 & TgIeT & ol & HESHAr AT (MoUs) TR gEATeR
3. $RA o fohdl) TeTTHAT ¢aRT 30 aut & Y I g Thfafedet r ugelr Imar o



AT fed I e T TN A FET ek YlAw:
(a) 1,2 3R 3
(b) Fhaer 1 3R 3
(c) haeT 2 3R 3
(d) shael 1

42.
Which of the following statements regarding the visit of the Minister of State of External
Affairs of India to North Korea in May 2018 is / are correct?
1. This is the first Ministerial visit from India to North Korea after a gap of 45 years
2. India and North Korea established formal diplomatic contact in December 1973
3. The two sides decided to explore cooperation in the field of vocational education,
agriculture, promotion of Yoga and traditional medicine
Select the correct answer using the code given below:
(a)1,2and 3
(b) 1 and 2 only
(c) 1 only
(d) 2 and 3 only

R & 3 T J fir, 7S 2018 FH 1 318 Ica HINITHr I F aR H, Fe=afaf@a
H 4 Fid T1/7 YA T 8/8 2
1. 45 3Nl & Ueh Aol & 91 Ig AR H e HINAT N ggell AFREANT AT
2. ARd AR 3caR AT o fgdqsR 1973 & 3foanRes Tafaas Tus (Feer)
F1iUd fenar
3. Il geil o caraHTres RIS, ¥, a7 1 TaR HR RERmETT FRfehedm & ai
H g HT THTTAT TATRT hlet T 0T fopam

ofrer o a1 e T T &Y WET 3eck gfAT:
(a) 1,2 3R 3
(b) hael 1 312
(c) e 1
(d) haer 2 3R 3



43,
Which of the following statements regarding the Shanghai Cooperation Organization (SCO)
is / are correct?
1. The SCO is an international Organization consisting of India, Pakistan, Russia,
China , Japan, Kazakhstan and Uzbekistan
2. The Headquarters of SCO is located at Beijing, China
3. Regional Anti-Terrorist Structure (RATS) exercises are conducted as part of
the SCO’s Peace Missions
Select the correct answer using the code given below:
(a)1,2and 3
(b) 1 only
(c) 2 and 3 only
(d) 2 only

QTETS AT IS (SCO) & aR H fe=faf@d & O i Ir/a FAT AT 88 2
1. SCO Teh HRTSET TS g St AR, TTfehedTet, &, T, ST,
FHATEEATT 3 ITAATRETT A AT T
2. SCO &1 HEATT Aofiar, et # Hafeud §
3. SCO & enifar fARMT & H19T & $T 7 &7 ’Tdehrdrg-ely =T (RATS)
AT T ST &

AT f&r I e T TN A FEY el YiAT:
(a) 1,2 3R 3
(b) shael 1
(c) Faer 2 3iR 3
(d) hael 2

44.
Which of the following statements regarding the Bay of Bengal Initiative for Multi-Sectoral
Technical and Economic Cooperation (BIMSTEC) is / are correct?

1. BIMSTEC is a group of seven countries in South Asia and South East Asia lying
in the littoral and adjacent areas of the Bay of Bengal constituting a contiguous
regional unity

2. BIMSTEC was established in June 1997 through the Bangkok Declaration

3. It is sector-driven organization dealing with only six sectors including trade,
technology, energy, transport, tourism and fisheries

Select the correct answer using the code given below:



(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 only
(d)1,2and 3

ﬁmmﬁwmmg@mﬁmm@mmowmﬁ
feRa A a T FIT T L 2

1.

BIMSTEC, STTel 1 WISY & FHgdeddl 3R 38wt &1l 7 TEurd giaror uiran
3 gfaror qd vfRra &, wfeAfed &I TehdT ST arel, AT Rl &1 U Wag
g

BIMSTEC, SehTeh BIYUTT o ATEIH & S[eT 1997 H T Fehar 31w &7

g &1F-HdTfeld HIG g il shadl 3o ©: 8131 - SATIR, WA, Fa,
aRagst, Tea 3R Feeg dTele, 7 1 FaAT§

AT T a1 e T YT T HEY S AT

(a) Fael 1 31 2
(b) Shaer 2 3R 3
(c) hael |

) 1,233

45.

Which of the following statements regarding India- Myanmar border relations is / are

correct?

1.

There are free movement rights for people ordinarily residing in the border areas
of both countries

The Union Cabinet recently approved an agreement between India and Myanmar
on land border crossing which the government said would enhance economic
interaction between people of the two countries

The agreement will safeguard the traditional rights of the largely tribal
communities residing along the border which are accustomed to free movement
across the land border

Select the correct answer using the code given below:

(a) 1 and 2 only
(b) 2 and 3 only

(c)1,2and 3
(d) 1 only



HRA - FIAR AT Tael & aR & Aeafaf@a & @ «la anva saa adr g8 2
1. cleil SRIT o FIAT &35 7 ATIRUTC: @1 dlel eall o fold HeFd AT
FRFERE
2. e AFFASH o §TcT 8§ H R 3R F-AR & &Ie 8] HAT IRITHA W Teh
TR FFTAE faram &, ok a3 S o et ¢ o 98 a1t ot & et &
e 31 A TohaT T SaTTaT
3. IE PR AT & HIY-HTY o dTel TR T & SeAoTci 1 HHST, ST 8
AT & ITR-GR HFT IARTH o I &, RO JITUHRY 1 &g
CE)l)
A1) fed T e T TN AT TN 3ok IAT:

(a) hael 1 3R 2
(b) Shaer 2 3R 3
(c)1,23IR3
(d) shael 1
46.
Which of the following statements regarding India - U.S trade relations is / are correct?
1. The U.S claims that India’s export promotion programmes have harmed
American workers and Washington has escalated the issue at the World Trade
Organization
2. The US has formally launched a case against India on India’s export subsidies
The US had in March challenged practically almost all of India’s export
programmes saying that thousands of Indian companies are receiving benefits
totaling over $7 billion annually through those schemes
Select the correct answer using the code given below:
(a) 1 and 2 only
(b) 2 and 3 only
(c)1,2and 3
(d) 1 only

[98)



HR - TYF AT AR IR TGEl & IR A AeA{Af@d & F let qv/a w1 Gy

e/

IFT T HARHT 7 &7ar & fob R & 2T Fadial wrdshal o AR
HIFIRT T gTiel TE TS & AR aTfRITTes o 30 7 1 927 AR Fareet &
gor fear g

TYF T IARKT A HRA o AT 3ere & fawg 7 7R & faeg v
AT 3R 39 & gREsT A e

T T AR o AT H 7R o ofa7e791 Tl 1T hrishaAl 1 T8
e gU cATgTRe ¥ & oAl & & foh 8T Y gtk Fraferar sof
TSI o HTETH F TS YTecl Y TET & ToteTeh ol AT 7 faferget srer
aTi¥es O 3ifas &

oA fe I e T TN AT Tl 3ok gAT:

47.

(a) hael 1 3R 2
(b) Shaer 2 3iR 3
(c)1,23IR3
(d) shael 1

In March 2018, India invited trade and commerce ministers of 52 countries including the U.S
and China for an informal meeting in Delhi. Which of the following statements with regard to
the above meeting is / are correct?

1.

The meeting comes against the backdrop of imposition of import duties on
steel and aluminium by the US administration, and Washington dragging India
to the WTO against export incentive programmes

India appealed to the WTO members to identify common ground for
strengthening the multi-lateral trade body amid challenges being faced by it
following the deadlock at the Buenos Aires Ministerial Conference in
December 2017

Although India has invited Pakistan for the meeting, it has decided to skip the
conference

Select the correct answer using the code given below:

(a)1,2and 3
(b) 1 and 2 only
(c) 1 only

(d) 2 and 3 only



AT 2018 H HR o GFoFd Tod AR IR =T Figel 52 =0T & IR 3R arforsa
AT 1 feeeh 7 Uah JeitqarRer doe & o AR fomar. suded doh Fan #
ArfafRa T aRa oA Fuaad g8 2
1. US YR« gaRT T 3R e fATATH TR 3T Qeehl & TR,
3R afRAeTEsT SaRT HRA & fidTd Tearget FHAHAT & fa%g WTO H Eid
STt Y GSS3A & FFAW TE S0 g1 T A
2. TeEFSR 2017 A U SYAH T ARENT FFAT 3 31 R 5
3T HRA GIRT WIHAT hT IR It & ey, 7R Fqu{—di‘lq SATIR
T St Tererd et & o AT e’ Rfegd e 1 3rdfier WTO
T EAT |
3. I HRA o 39 S o ford qrfehedTst ol ATHTIA foham o1, 381 39
S F 79T FAEY it 1 ot foram
AT fed I e T T AT FET 3ok YlAT:
(a) 1,2 3R 3
(b) a1 31X 2
(c) ShaeT 1
(d) Shaer 2 3iR 3

48.
Which of the following statements about import of sugar by India is / are correct?
1. India imports about 20% of its total imports of sugar from Pakistan
2. Upper limit to impose import duty on sugar under WTO guidelines is
150%
3. Sugar is mostly imported from Brazil
Select the correct answer using the code given below:

(a) 1,2 and 3

(b) 1 and 2 only
(c) 1 only

(d) 2 and 3 only



HRA EaRT Aeft (ER) F7 AT fFD ST & IR A, Reafaf@a § @ Ha avd wa ad
e/8 ?

1. Wiﬁ?ﬁésmﬁr?ﬁ 3TTATT ST SIETIAT 20% GTTehEdTed & TRATT il &
2. WTO & AR & 3efieT el 9T mre ek 1 AFERII0T Flel o fordy
F9 EAT 150% &
3. AT 3TTRT T T SToitel & AT T STl &
AT f&=r 91 e T TAET T WY Scek T
(@) 1,2 3R 3
(b) Fhaer 1 32
(c) hael 1
(d) Faer 2 31T 3

49.
Iraq had conducted elections for its parliament recently. Which of the following statements

with regard to the above is / are correct?

1. These elections were the first since Iraq declared victory over the Islamic State
(IS) group in December 2017

2. An alliance headed by former Shia militia chief Moqtada al-Sadr has won the
parliamentary elections in Iraq

3. Mr. Sadr’s party and its allies campaigned on a platform of fighting

corruption and investing in public services
Select the correct answer using the code given below:
(a) 1 and 2 only
(b) 2 and 3 only
(c)1,2and 3
(d) 1 only
ST o gTeT 81 & 379 §I¢ & o) [AaTad aay ¥, 50 TR A Fafaf@a # a +ia

/A YT Tl o/ ?
1. I foaTee, 3 qarT feHee 2017 H $EeTHS ¥ (IS) HHg W faerar &y
YOI & ¢ & Ygell IR fohd a1
2. ¥cqa R FATATRIAT Fa@ Hisrder 3iel-He i Tl # Teh TSeere o
ST H §U HHG forafraret # forsrar greet
3. Hr¥g & ol 3R 3% TN Gall of SR & ol 3R olleh Aarsit &
A2 3a & ford Ueh A & HTAITH Torrar
AT & a1 e T YT T HEY ek AT




(a) hael 1 3IR 2
(b) shdeT 2 3 3
(©)1,2 33
(d) shael 1

50.

The USA has pulled out of the 2015 international deal with Iran to curb its nuclear
programme in return for easing sanctions. Which of the following statements with regard to
this is / are NOT correct?

1. Since the U.S. withdrawal, the remaining parties have all pledged to stick to
the deal if Tehran respects its terms

2. Beijing and Moscow have also stepped up efforts to support the US to scrap
the deal

3. The European Commission called for doing more to help Iran’s energy sector

and small and medium-sized companies, as part of confidence-building
measures

Select the correct answer using the code given below:
(a) 1 and 3 only
(b) 2 and 3 only
(c)1,2and 3
(d) 2 only

USA &, TeTRITETaT & &7 &t & TaroT # ST o AT (RATT]) Hidshe Y g e
Y o Tl ST & MY 2015 IR Fie & e, i ag X forar g, s aaer &
fFfof@a & & Sl G U TEr 98l o/
1. U.S. & aTeX [ihel STt & 916, I, AW Tt 9&ii o 39 Fic; o 1Y 91 gt ol
got forar § afe dexreT sueT erdl &1 eare T@dar g
2. ST 3N AERT A o 38 HIS B TE (ThY) A & US T qHST ool
T T W D &
3. QUGS HANer A, 3T [ATAT et & 39T & 39 H, ST & Fall 819
3R oY Ud AEGH 37TehR T STl l Heg i & o Fo 3R 3w
HeA T ATALTSAT SATATS &
AT T a1 e T FAT &Y HET 3cck YhAT:




(a) haer 1 3R 3

(b) Fhaer 2 3R 3
(©)1,2 3R 3
(d) hael 2
51.
Which of the following statements about BRICS is / are correct?
1. The 10" annual summit of BRICS was held in Brazil
2. The BRICS has launched Africa Regional Centre in Johannesburg
3. BRICS countries work for inclusive economic growth, value-added

multilateral trade and investment in productive sectors
Select the correct answer using the code given below:
(a) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3

BRICS & R H, ATf@d & O i ar/a I &l &/8?
1. BRICS T gxdl arfieh RIGT ardl sefier 7 g5 2
2. BRICS & SigIEeaT # 37shrenm &1 he; hl o3l &l &
3. BRICS & ¥ GATGR T e, Headfed Sgeaia samdR AR
3cdTeh & & fAdr & ey e §
AT fed I e T TN AT FET 3ok YA
(a) haeT 1
(b) Faer 2 3R 3
(c)Faer 1 3R 3
(d) 1,2 33




52.

Which of the following statements related to the recent dispute in South China Sea is / are

correct?
1.

3.

Vietnam’s state petroleum firm Petro Vietnam withdrew its consent for
Spanish energy firm Repsol to move ahead with a drilling project in the South
China Sea

The U.S. Navy has considerably expanded its presence in the South China Sea
as well, sending a message to China that the United States is very much a
Pacific power

Relations between Vietnam and USA has deteriorated in the last five years

Select the correct answer using the code given below:

(a) 1 only

(b) 2 and 3 only
(¢)1,2and 3
(d) 1 and 2 only

SiayoT et RIR A g7l & faare & Gaer #, ReaTai@d & O Sl Ir/a 3T FEr g/

1.

3.
s fedr oy

I Ta# & TorhrT Ueiforas gfasareT el faadsre o, T Far
GTISaIe YTETSl & GTaToT dlel HTIR H Ueh dtie] YRIISTAT T ol 33T
J&at & T 319eAr GgAfa arad o o

U.S. AT & Eieior Hiel AR & &t 379ei 3uieufa & @ gig &1 8,
TS <ot =t 75 Feer I & fo EgereT To AR el Ueh gend
O afrew) afFa &

faera uiwr awt & faaaama 31k USA & g gey foers §

e T FIIT T el Seck JfAT:

(a) el |

(b) Shaer 2 3R 3
(c) 1,233
(d) haer 1 312



53.
Which of the following statements relating to the Belt and Road Initiative (BRI) is / are
correct?

1. The BRI was initiated in the year 2013 as an attempt to recreate the old Silk
Road

2. The BRI is a smart power strategy which aims to wrap the entire world, not
only Eurasia and Africa, and has become the leitmotif of China’s foreign
policy

3. The BRI is a regional infrastructure project, through which China aims to

establish itself as regional economic power
Select the correct answer using the code given below:
(a) 2 and 3 only
(b)1,2and 3
(c) 1 only
(d) 1 and 2 only

doc 31X U3 98 (BRI) & Ta¢ &, Reafaf@d & O i an/d w3« T8y /87

1. it Y0 AT Y T @ Fallel o T o 9 & a¥ 2013 & BRI T 3T
hr ot oy
2. BRIV TAE AT IFA &, TSraeht 387 Shael IR 3R 31fhehr € e,
Sfosh HqUT faea &l AT e &, 3R Jg e i facer fey s fafrse
ER A ITATY
3. BRI Ueh &1 JAETTAT IR &, fSeeh #A1egd @ <t ge 1 &1
3T afFd & 39 # TU1T A HT T8I I@AT &
AT f&r I e T TN T FEY el YiaAT:
(a) hdeT 2 3R 3
(b) 1,2 313
(c) el 1
(d) haer 1 312



54.
Which of the following statements relating to the further expansion of European Union is /
are correct?

1. Emmanuel Macron has emerged as the leading opponent of further EU
expansion
2. In most of the six Balkan states, opinion polls show a strong majority in

favour of EU integration
3. Russia’s increasingly assertive foreign policy has no role in the integration of
European Union
Select the correct answer using the code given below:

(a) 2 and 3 only
(b)1,2and 3
(c) 1 only
(d) 1 and 2 only

T HE (U ZiaAgeT) & 3R 31 faedR & gaer &, Fefai@d # @ i ava
YT el o/a ?
1. SFEHGIUC FshleT, EU o 3R 31Teeh TadR o 370l faRiedl o 39 & 33R1 8
2. STeched Al A T 3TURTA H, ATIUTATHT o EU TehIh0T & J&T H
| SEA fe@rar g
3. O T YA FATIET aeRr A St JUURT Her oh TehrehioT & whis 3YfHehT
qET 8
AT fed I e T TN AT FET 3ok YiAT:
(a) hdeT 2 3R 3
(b) 1,2 3R 3
(c) e 1
(d) Shaer 1 3R 2

55.
Recently USA has imposed heavy tariff on imported steel and aluminum items. Which of the
following statements with regard to this is / are correct?
1. The levy does exempt Canada and Mexico
2. India has sought consultations with the US under the WTO's dispute
settlement mechanism
3. India has a trade deficit with America
Select the correct answer using the code given below:



(a) 2 and 3 only
(b)1,2and 3
(c) 1 only

(d) 1 and 2 only

gTeT €1 3, USA & 371l $ETel 3R 3egfATas a&qg3it ox sy Tfeeh eI fohar
g. 30 O9y # Aeafaf@a # 9 Fia anva sua agr gk 2
1. Wﬁ?ﬁ%ﬂﬁﬁsﬁm@iﬁ'ﬁ@?%
2. R & WTO I faare foraeret foramfafer & 3idsta US & ary wraey $r
AT HE
3. R T AR & T1Y IR =12l §
AT fed I e T T A FET 3ok YA
(a) hdeT 2 3R 3
(b) 1,2 3R 3
(c) hael 1
(d) dhaer 1 3R 2

56.
Which of the following statements regarding the World Bank is / are correct?
1. IBRD and IDA form the World Bank, which provides financing, policy
advice, and technical assistance to governments of developing countries

2. IBRD focuses on the world’s poorest countries, while IDA assists middle-
income and creditworthy poorer countries
3. The World Bank Group is one of the world’s largest sources of funding and

knowledge for developing countries
Select the correct answer using the code given below:
(a) 1 and 2 only
(b)1,2and 3
(c) 1 and 3 only
(d) 3 only



TR s & Gaer A, HAeITT@d 7 & Sl /8 U T 8/8?

1.

IBRD 3R IDA fa2q de g=11a §, it faerraefier g2if &t @RI &1 facdiae,
HAifa T, 31 ahah TERIar Y AT

IBRD fa2q & fatfadar ¢2if oX €a1eT hfgd &3ar 8, Stafeh IDA 727 317
AR A Aoy eeTar 2if T FgrIar T &

faea do Tog Taerraeiier G2t & ford fAefaret 3R 711 o fava & faemerds
A A ARG

AT T a1 e T YT T HEY ek AT

57.

(a) hael 1 3R 2
(b) 1,233
(c) Fael 1 3iR 3
(d) hael 3

Which of the following statements relating to IMF is / are correct?

1.

The IMF was conceived at a UN conference in Bretton Woods, New
Hampshire, United States, in July 1944

The IMF's primary purpose is to ensure the stability of the international
monetary system

The Fund's mandate was updated in 2016 to include all macroeconomic and
financial sector issues that bear on global stability

Select the correct answer using the code given below:

(a) 2 and 3 only
(b)1,2and 3
(c) 1 only

(d) 1 and 2 only



IMF & ga¥ H, [Aafi@a & O i avd a9 T8 e/8?

1.

Sicol 93, 7 QURITIR, HYF AT H F[elTS 1944 H Teh UN FFA ol H IMF
hT ShoTsTT shT 3T AT

IMF T TS JIelel 3cRTSer Alfges (TAedir) JouTrelr shr fEaRdr i
AR el &

59 [T & 37T T 2016 H Tl L HH dfRdeh AT I JHTT
STele alel FfY FATSE AT 3R facchiar e FeT T FATaer foham
T

AT f&r I e T TN T FEY Secl YiAT:

(a) Fael 2 3R 3
(b) 1,2 313
(c) ShaeT 1

(d) a1 312

Which of the following statements relating to Organization of American States (OAS) is / are

58.

correct?
1.
2.
3.

The founding of the OAS was based on the general acceptance of the
principles of the U.S. Monroe Doctrine (Dec. 2, 1823) by the countries of the
Western Hemisphere

OAS was formed to promote economic, military, and cultural cooperation
among its members, which include almost all of the independent states of the
Western Hemisphere

The OAS’s main goals is to prevent any outside state’s intervention in the
Western Hemisphere

Select the correct answer using the code given below:
(a) 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only
(d) 3 only



IAREY TSI T (0AS) & TaeT 7, Fa1faf@a & O sla v sy adr g/
1. OAS T AT (FATAT), ITRTHT aMere] & 20 GaRT U.S. AR STeFdlel
(fearFa 2, 1823) o TAGTcll hT AT Tlpic TR MR oY
2. OAS P ITAT TP TGEIT ToTHH TTITHT INAATE o SIS 3T Tad T T
A 8, & el 3mieh, Feg 3R AEpicien TEd1eT & Haeled o ford &
T oAt
3. OAS I HTT ofeg YREH Melmel 7 fohel 8t argdl T o g&aedd
UeheAT g
oA fed I e T TN AT Tl 3ok IAT:
(a) 1,2 33
(b) a1 31X 2
(c)paer 2 3R 3
(d) dhaer 3
59.
Which of the following statements relating to the Council of Ministers in a State is / are NOT
correct?

1. The total number of Ministers, including the Chief Minister, in Council of Ministers
in a State shall not exceed ten per cent of the total number of members of the
Legislative Assembly of that State

2. The Governor shall administer the oaths of office and secrecy to the Ministers
according to the norms set out for the purpose in the Third Schedule

3. A Minister who for any period of six consecutive months is not a member of the
Legislature of the State shall at the expiration of that period cease to be a Minister

Select the correct answer using the correct code given below
(a) 1 and 2 only
(b) 1 only
(¢) 1,2and 3
(d) 2 and 3 only



e U i ATY-aRvE § G &, Rrafaf@a 7 @ el ar/d ST gy a8 88
1. Tl o AFY-aRe & AT B ot T forad gegash i anfaer 8, 39
T Y faeTeT HoT o FeTal hr el HEAT o e FfArT & 3118 ofel g1l
2. ToguTel AT A U 3R MIArarar i erar, 38 3227 & ford el aeggen #
ST I AT oh ITER fEerarvan

3. IS FAT SN & FARTT A=A b1 Y 3rafer & ford Tog & RAu=HsT 1 T
6 &, 3 AT & FATCH &1 Aot I FHAY 6T g

AT f&r I e T TN A FEY el YiAT:

(a) el 1 3R 2
(b) haeT 1

(©) 1,233
(d) paer 2 3T 3

60.
Which one of the following statements regarding State Finance Commission is correct?
(a) The Governor of a State shall constitute a Finance Commission to review the financial
position of the Panchayats
(b) The Commission shall review the financial position of all States in the country
(c) The tenure of the Commission is six years
(d) The Commission shall submit its recommendation to the Central Government

T facd 3T & deeT & fAeafaf@a & @ Sla a1 s agrg?
(a) TST T AT, GATIA! ol Tdeaid At hr Tt & ford ves facd 3maer &r
ST I
(b) 3TTANTT, 221 & T T=T 1 facdrT Feufa Hr gafrer s
(c) 3TN T FIIRTA S AV &
(d) 3TN AT HEJTA FETT AIHR I T P

61.
What is the Contingency Fund of India?
(a) It is the fund placed at the disposal of the President to enable advances to be made by
him for the purpose of meeting unforeseen expenditure
(b) It is the fund at the disposal of the Prime Minister to enable advances to be made by
his Ministers
(c) It is the fund at the disposal of the Parliament to be expended by the Members of
Parliament
(d) It is the fund at the disposal of the Speaker of Lok Sabha to meet the day to day needs
during the Parliament session



HRT FT 3T EHRaT AT Far g2

(a) TE 6 AT § S Tsguiel & 31TRepR A T a=AY § dTfeh 3T e o0 g el &
TRITSTeT o foldl 3etoh GaRT & et atel TIH THT & Toh

(b) I g AT & S TenTH A & HVFR F § ATfeh 3o1eh AT gaRT &2 ST ared
31 Foa gl g

(c) I8 ag AT & S §8g & 3SR A §, S §He HEEAN ¢aRT <Y fhd I & fordx
g

(d) Ig a8 AT § 3 ofies a7 31e7eT & 31 R &7 § arfer §8e TF & it &aifeet
GG THT T I AT ST Feh

62.
Which one of the following features fall outside the scope of amendatory powers of the
Parliament under Article 3687

(a) Democracy and Separation of Powers
(b) Representation of States in Parliament
(c) Any of the Lists in the Seventh Schedule
(d) Directive Principles of State Policy

fefaf@a & @ et a1 3iferaror, 3rgeee 368 & IAd, Tae B TN FaA HT
ATFIAT & HIT T & ST & 2

(a) iTehcro 3 QATFAHT T Jrerenor
(b) GHe # T2 1 Ifafafea

(c) Tl 3Tl S it

(d) TS T AT & fAe2re ded

63.
Who among the following has the authority to remove the Comptroller and Auditor General
of India on the grounds of proved misbehavior or incapacity?

(a) President

(b) Finance Minister

(c) Parliament

(d) Supreme Court of India



R & e 3R AGT@T TiiaTeh oI TG Herar 31UaT 3FHAYT o TR 9 gele &l
HFR Aeafaiad # 4 fra gred g 2

(a) IrSgIfer

(b) faca &

(c) THS

(d) AR T ITIdH AT

64.
Which among the following is NOT related to the duty and rights of the Attorney-General for
India?

(a) To give advice on such legal matters and perform such other duties of a legal

character as may be assigned to him by the Prime Minister

(b) To have the right to speak in the Houses of Parliament

(c) To have the right of audience in Courts in the territory of India

(d) To act as the Law officer of the Government of India

R o AGIIATIATET o heled 3R TURRT F, eafalld # & 31 gaid 8l o2
(2) TH Tl ATHA! I HATE el TUT Shlelal] TTEY o W e sheiedl sl G hladl
(b) THE & el H Yelel &7 FTAFR BT
(¢) ¥R & ASTETT H =TTl H &2k T ITUHR glalT
(d) R HIHN o Hlefel HTURRT & T H 1 et

65.
Which one of the following statements regarding the Council of States in India is NOT
correct?
(a) The system of proportional representation has been adopted partially
(b) 12 members shall be nominated by the President
(c) Representatives of the States and Union Territories are elected by the method
of indirect election
(d) Five members may be nominated from the Anglo-Indian community by the
President

R & ToT THT & oyl 7, Aeafaf@a 7 O ia a1 sy adr a8 &2
(a) 3MeTaTicieh iR hr caaeaT st 371121 T & HUAIT IAT &
(b) 12 G&ET, Tsguid GaRT Al fohd Sriar
(c) TTT IUT TG T=F8YA o FfafaA Ty &1 fare, 3vcaet e f[afer
ST fehar Sireem
(d) Tregufel GarT Gre-5f3aeT aHer & Uit Heed A1fAd & o #ehd §




66.
Which among the following is NOT the privilege of the Members of Parliament?
(a) Freedom of attendance as witness
(b) Freedom of speech in parliament
(c) Freedom from arrest in civil cases
(d) Freedom to inspect any Government office

frfaf@a & @ Fla a1, due & et #1 fadwifter a8 82
(a) TTef & T & 3ufEAT g1 T TadTar
(b) HHE H qTep-FATATT (HHG H HIYUT Fled hl TIATAT)
(c) T&Tae ATHel & FIRFARY & Fac=ar (Fied)
(d) TR 8 I T 1 fAeToT Fva i Tadaan

67.
Which one of the following statements regarding legislative procedure is NOT correct?
(a) A Bill other than Money or financial Bills may be introduced in either House of
Parliament and requires passage in both Houses
(b) A Bill may be introduced by a Minister only
(c) A Bill has to be presented to the President for his assent to become law
(d) A Money Bill shall not be introduced in the Council of States

foamdt ufehar & Gey &, Reafafad & &SI a1 FUw T 781 82
(a) YT 37T facd TAGT! FI BISH IS 3T [AGTH TaG & TohdlT 3 TeeT & Ier
T ST GehdT & 311 3T GlAT Aot & IR 81T 39T &
(b) T Ta8Teh shael fondT HAT SanT &1 Ier fonaT ST JehdT &
() eIt Feotel o ford Teh fa8Teh A1 ST o T 3oTehT TIhfct o ford T ke
gl e
(d) Teh T TG T AT FHT H TEICT AE1 fohdT SITTaT

68.
Which one of the following statements with regard to the Official Languages Act, 1963 is
NOT correct?
(a) English language may continue to be used in addition to Hindi for all official purposes
of the Union
(b) Hindi language is compulsory for all transactions of business in Parliament
(c) Authorized Hindi translation of any Central Act or any Ordinance promulgated by the
President shall be deemed to be authoritative text thereof in Hindi
(d) Optional use of Hindi or other official language in judgments of High Court shall be
accompanied by a translation of the same in the English language issued under the
authority of the High court



orATST fRATATA, 1963 & TG 7, He=ITTd & T ShleT AT HYUT TET Aol &7

(a) Y & TH HrATAIT TATSTAT b Tt TEST o T AT 373ISiT HINT T FITeT SIRT
3dT ST

(b) THE, H 1Dl I THT FRIAIRAT & o TBer T 1Aar T g

(c) Tordlt Tefar TR 3r2aT TSeufer eaRT Tt feohdll 3TegTeer i 3T
%ﬁw,%ﬁﬁwm qTS HTAT SITTaT

(d) 3TT ~ATITAT o TA0TAT F TEET 3TUAT 31T JSTHTST & dehlodeh WAET o JTI-ATT
34T T 3ASH $TST H 37eTdTe; 3T~ o WITHhR o 37efleT STy gram

69.
The provisions of Sixth Schedule to the Constitution of India is applicable to the States of:
(a) Assam , Meghalaya, Tripura and Mizoram
(b) Odisha, Madhya Pradesh and Chattisgarh
(c) Tamil Nadu, Karnataka, Andhra Pradesh and Kerala
(d) Jammu and Kashmir and Himachal Pradesh

HR & T hT ST I & IS, fohed Tl W AT & 2
(a) 3/, AETer, QR 3R fAsia
(b) 3TN, ALY FS2A 3R Sedra9Te
(c) TATHIATS, Thalleeh, JTEITeRr A el

(d) STFH 3R HIFAR TUT TFHATTT TG0

70.
Which one of the following Schedules to the Constitution of India deals with Tribes Advisory
Council?

(a) Fourth Schedule

(b) Fifth Schedule

(¢) Sixth Schedule

(d) Seventh Schedule

HRA & GFene I eI fEd & @ let A 3 SIToldII HellgehR aRve & Fefrd
g2

(a) Y 3TN

(b) e 3

(c) BT Tt

(d) el 3feTe




71.

Which one of the following is NOT included in the definition of ‘goods’ as per GFR 2017?

(a) Livestock

(b) Aircraft

(c) Licenses

(d) Publications for a library

GFR 2017 & 378K, "GHIAT (A7) T TR H o=ifafad & & ar enfarer 721 &2

(a) 9RIYeT

(b) faATT

ORGIELE]

(d) GETHRTT & ford TehTereT
72.

ABC Ministry floated an open tender. It resulted in only one effective offer. What is the
Ministry supposed to do in this case?

(a) Go for retendering

(b) Extend the time limit

(c) Treat it as a single tender contract

(d) Change the specifications to attract more competitors

ABC #HFTeT & Ush Gell fAfder 3R (R8T ). g8 IROmA § el T &1 Fomd
TECTa 1o E31T. 5 Fef 3 FATersr gaRT 72 Rl STt 31afaTd &7

(a) 9e: FoifaeT fovshrere

(b) THT HIHAT FT TSI

(c) 39 Uehel TATder @ider & 0 # AT

(d) 3178 wfa ot i 3refia Fe & o fafifSear &1 aRafda s



73.
A product whose EOQ is 400, experiences a decrease in ordering cost from Rs. 900 to Rs.
100. The new EOQ is:

(a) Three times as large

(b) One third as large
(c) Nine times as large
(d) One ninth as large

Teh 3T TolHehT EOQ, 400 &, TSN H{eod (3SReT Shle) 7 $931 900 & T 100 Teh T
EeTd () 37787 AT 8. AT EOQ Y :

(a) WA EOQ T cfieT I[=AT

(b) ITHT EOQ T Ueh TAETS

(c) HTHAT EOQ T =il a[=IT

(d) IATT EOQ T silaT 372T (Teh deT &)
74.
A Central Government Ministry proposes to buy goods worth more than Rs.30 Lakh
(tentative cost). It is also a fact that sources of supply are definitely known to the department
and are registered with it and possibility of fresh sources beyond those being tapped is
remote. Which method of purchase is to be followed in this case?

(a) Single Tender Enquiry

(b) Limited Tender Enquiry

(c) Open Tender Enquiry
(d) Through Local Purchase Committee

FET TR HT T FATT 30 oG 9 (3T e § 3470 & e i aeq3it o
GC T GEATT AT 8. T T Teh LT & fob 3Tt o AT Teamer anl o fRerey &0 & #re
g 3 3 38 ATY YSiichc § AT 38eh 3TN 3T 7Y Al o (ATl T FHTGAT HhT HeA &
=g 2t & 57 1 isT A A 319=110 8ol

(a) Tehel fAfder qBdTS

(b) TfAT AT qBdre

(c) Geit f[Afaer godrs

(d) TIN5 GIATT & ATCTA G




75.
The advance payment to the private firms should NOT exceed:
(a) 25% of contract value

(b) 30% of contract value
(c) 35% of contract value
(d) 40% of contract value

fSiY T T 3173 s{aTcire, foharay 31Tk gl foharm Siret TTfge?
(a) HIET HeT T 25%
(b) HIAST HeT T 30%
(c) HIdeT HeT T 35%
(d) HIdeT HeT T 40%

76.
Suppose, the estimated value of the goods to be procured by a Department is Rs. 50 Lakh.
What value should be obtained as Bid Security?

(a) Any value between Rs. 1,00,000 and Rs. 2,50,000

(b) Any value between Rs. 1,50,000 and Rs. 2,50,000
(c) Any value between Rs. 2,50,000 and Rs. 5,00,000
(d) Any value between Rs. 3,00,000 and Rs. 5,00,000

AT ST, TRl TIHTaT SaRT UTe T STt aTell TE3AT b1 3THTIAT Hed 50 o 39
g. atell 9asifal & @9 H fehdelr Hear wreeT fehar ST =g e?
(2) 1,00,000 9 3 2,50,000 FIA & < IS Hed

(b) 1,50,000 ¥ 3 2,50,000 TG & T IS Hed
(c) 2,50,000 T 3R 5,00,000 TI & &<l HIS Ao
(d) 3,00,000 T 3K 5,00,000 TG & T HIS Hed

77.
Which of the following are correct in case of disposal of goods through advertised tender?
1. The bidding document should indicate the location and present condition of the goods
to be sold so that the bidders can inspect the goods before bidding
2. The bidders should be asked to furnish bid security along with their bids
3. The bid of the lowest acceptable responsive bid should normally be accepted
4. Late bids should not be accepted

Select the correct answer using the code given below:
(a) 1,3 and 4
(b) 1,2 and 3
(c) 1,2and 4
(d)2,3and 4



T fafaer & Aread @ a3t & fadere (9 & A 7, Aefaf@a A a wia @
ere ?
1. TS1eT aEq3il &7 faishl bt SITelt & SeTeh! aciTel R 3R Tt el Joig & g
ST TR T, Tk Slell STl & Tgel Stell ofTlel dTel TE3AT hT STre Y Heb
2. el ST aTell & 379 Slell o rY-ArY Sl Sidsqfcl Tedd it & T gl
ST 1w
3. TgeAdH FARRT THTEAZ SToll aTell STell Sl HTLRUT: FlhR T ST A1fgw
4. ¥ arelr Siferar TR 8T I ST ATed
=Arer fed I e T TN AT FET 3ok YA
(a) 1,3 3R 4
(b) 1,2 3R 3
(c) 1,2 34
d) 2,3 34

78.
A sale account should be prepared for goods disposed of in the prescribed form, duly signed
by the officer who supervised the sale or auction. Which one of the following is the
prescribed form?

(a) GFR 8

(b) GFR 9

(c) GFR 10

(d) GFR 11

I I AT F o, UG yox & e owr IR frar s arfge, s 39 31f8erT
garT [aftad gearaiRa gl arfew et foshr 3rerar sersl $r Sava $r. ag FuiRa

q9e, [T T d & & hied ATE?
(a) GFR 8
(b) GFR 9
(c) GFR 10
(d) GFR 11

79.
During the disposal through auction, if a bid is accepted, how much earnest money is to be
taken on the spot from the successful bidder?

(a) Not less than 20% of the bid value

(b) Not less than 25% of the bid value
(c) Not less than 30% of the bid value
(d) Not less than 35% of the bid value



AT & ATEIH F 99 STl & ST, T Teh diell TAIRR HI ST &, df Stell ofdlled H
el glel dlel i & Hleh I (JIch) forcTaly sramer iRy & St =nfge?

(a) SOl Fe 3 20% & Ha &N

(b) SYel e 3 25% T o &)

(c) STl He & 30% & A A1

(d) STl HeT & 35% @ A oAg1

80.
If the residual value of surplus or obsolete or unserviceable goods is above a certain
threshold, such goods should be disposed of by obtaining bids through advertised tender or
public auction. Which one of the following is the prescribed threshold?

(a) Rupees 1.5 Lakh

(b) Rupees 2.0 Lakh
(c) Rupees 2.5 Lakh
(d) Rupees 3.0 Lakh

e TR 31T Irvfld 3rUaT SR ATl &7 3R Hed T AfRad sradiar & st
&, a1 37 Y& & ATl T TehT Fraatfetes sATeraT 31ar et ffaer & aAreas & aren
STed & 1 STl TR, I et sradiar, eafaf@a A @ wla @ ge

(a) 1.5 ofTg 39

(b) 2.0 oM TG
(c) 2.5 oM g ¥9Y
(d) 3.0 ITE TIY

81.
Which of the following are correct in case of verification of consumable goods and materials?
1. It should be undertaken at least once in a year
2. A certificate of verification along with the findings shall be recorded in the Assets
Register
3. Verification should be made in the presence of the officer responsible for the custody
of the inventory being verified
4. Discrepancies, if any, identified during verification should be brought to the notice of
the competent authority
Select the correct answer using the code given below:
(a) 1,3 and 4
(b) 1,2 and 3
(¢) 1,2 and 4
(d) 2,3 and 4



39S AT (T3 AR A & Fea9a & A A, Fefafad & @ &l @ HyeT
Tere?
1. 39 TS Y H FHA H A Ueh aR T AT A1fgT
2. gREgfea e # fasast & Tr-Arer Teh AT THTOTIT Gof fohdT SITTaT
3. g9 39 AR fT 3ufeafa & fhar Ser @nfge, Sy acariad & T WBr
TETHET (FIEN) i HTAET & o TR g
4. GO & aRTeT gt IRy (31fdara) fageriaar, afe #1s &, Tete iRy &r
ST 3 el el T

AT fed I e T TN A FET 3o} YA
(a) 1,334
(b) 1,233
(c) 1,234

(d) 2,334
82.
In case of Quality and Cost Based Selection of Consultancy proposals, the weightage of the
technical parameters in no case should exceed:

(a) 50%

(b) 60%

(c) 70%

(d) 80%

TR SEATal & IOTdedT HR AT MR Tt o A H, Tl off TEafa 7 eheitehr

UTIell T Agcd, [T & O fhdsr @ 311 A8 gl arfew?
(2) 50%
(b) 60%
©) 70%
(d) 80%

83.
In the case of evaluation of consultancy proposals, which method of selection / evaluation is
appropriate for assignments of a standard or routine nature where well established
methodologies, practices and standards exist?

(a) Quality and Cost Based Selection

(b) Quality Alone Based Selection

(c) Least Cost System

(d) Single Source Selection



R FEATAT o FHoATehel o HIHS H, HleTeh AT A Fehfcl & A HrT (FHICL)
o ford, forere geaTfid shrivonfedr, yUe 3R AeUs fAegde &, T / Hediche 6
et AT agfad Sih 82

(a) FOTdeAT 3R AT TR T

(b) Sharel IUTcAT TR TJT
(c) TIAAH ST JOTTelr
(d) Tehel G T

84.
Rule 149 of GFR 2017 refers to which mode of procurement?
(a) Electronic Reverse Auction

(b) Two-stage bidding
(c) Government e-Marketplace
(d) Two bid system

GFR 2017 3T fa3aaT 149, 91907 1 ohleT & A & gefia g ?
(a) SAFCI oA Scohd ATHTHT (STl oieh Ray 3iTerere)
(b) &T - TIXOTT Srelt AT
(¢) ATHDIT (ITTAHT) S-HATheTord
(d) Efa-arel gomelt

85.
The Central Government, through administrative instructions, has reserved all items of hand-
spun and hand-woven textiles for exclusive purchase from which of the following
organizations?

(a) Association of Corporations and Apex Societies of Handlooms

(b) Khadi and Village Industries Commission

(c) Micro, Small and Medium Enterprises

(d) National Small Industries Corporation

hEIT TLHR A TR TeTeh J1eferRll & SaT, 819 & il §U 3R 8197 & g4 g & hr wefy
TEI3T bl AT 7 A Tohd Teh HeroeT & 3eTed Tl & Tl Retd (IRTEd) foham
?

(a) TEITATRIE 3T HRURAT TS I HIARIEH 3Hh §Ugel=d
(b) WIEY 3R ATATGITT 3TANT

(c) & A, T 3R ALIH 3 TH

(d) TSEXT 7Y ST foveray



86.
In the case of any Department contemplating to obtain bids in response to Advertised Tender
Enquiry from abroad, what is the minimum time to be allowed for submission of bids from

the date of publication of the tender notice?
(a) Three weeks

(b) Four weeks
(c) Five weeks
(d) Six weeks

3 AT H, 519 is fF81mT faanfi fAfder qodrs & Jegea) A facer @ srell ured e
o IR F TR Y T6T &1, T dlell &l T&dicl & o2, ATaer Faer & Jehmre &1 arhie @
T ATH AT fhc=lT Gl § 2

(a) leT AedTE

(b) I HCATE

(c) T HEATE

(d) &: Acdrg

87.
An online real-time purchasing technique utilized by the procuring entity to select the
successful bid, which involves presentation by bidders of successively more favourable bids
during a scheduled period of time and automatic evaluation of bids is termed:

(a) e-procurement.

(b) e-publishing.
(c) Electronic Bidding.
(d) Electronic Reverse Auction.

ool STl & T o oI JIIUT el dlell FEAT (&) SaRT 39T H =Y =AY T
3HTeTolesT arEdides - TAT @ Ifhar &I, G te Aad gaaEa™ & e Ay
3118 3feTehel NTorAT o STCNEGRT SaRT TEIHIOT hiaAT AT SISl T Fad: HedTehsd
BIeTT AMTAS BT 8, fohd 'ae (2186 & SAT=AT SATdT ?

(a) $-TFIRHT

(b) $-TTeeTTRIT

OEREMIGERCIET
(d) SAFCI A Scohd ATITHT (STl ioish Ray 3iTerere)




88.
Proprietary Article Certificate is used in the case of which one of the following forms of
procurement?

(a) Single Tender Enquiry

(b) Limited Tender Enquiry

(c) Open Tender Enquiry

(d) Electronic Reverse Auction

o fed & & o JehR & TT90T o AT H, A ccteh a& TATOTIS G T Sire
87

(2) Tehel fAfder q&dre

(b) TfAT AT qode

(c) Gel fefdeT qods

(d) SeIFCITeTeh Scohd oiTelTAHT (STl oleh XA JTeere)

89.
How long after the date of completion of all contractual obligations of the supplier including
warranty obligations should Performance Security remain valid?

(a) 30 days

(b) 45 days

(c) 60 days

(d) 90 days

Yarae & Gl Hider g1i¥ical &, foerd arél areadmd enfae €, qut g1et &t arfre & a1
el deh fersarest wfdsficl faftaAT= TE= argw?

(a) 30 f&oT

(b) 45 fe=T

(c) 60 fe=T

(d) 90 feoT

90.
In case of maintenance contract, normally, what is the maximum limit for advance payment
to the supplier?

(a) Amount payable for two months under the contract

(b) Amount payable for three months under the contract
(c) Amount payable for six months under the contract
(d) Amount payable for nine months under the contract



3TIRETOT HIdeT & HHe! H, ATIRUTC:, FeTieh i HTAH HITclrel fohd STt & Tordr iftrehcrs
HATFATE 2

(a) HTdET o g &l ATE & T 3 A

(b) TTaET & dgd et ATg & ol ¢ fer

(c) GRTF dgd ©: A & Y T TfA

(d) Gfaer & dgd =it A1 & fo & Uiy

91.
In the case of procurement of consulting services, what is the estimated cost of the consulting
services beyond which an enquiry for seeking ‘Expression of Interest’ from consultants
should be published on Central Public Procurement Portal and on Government e-
Marketplace?

(a) Rs. 10 Lakhs

(b) Rs. 15 Lakhs
(c) Rs. 20 Lakhs
(d) Rs. 25 Lakhs

RIARNT A3 & 91907 & ATH! &, WA Qa13il H g AT AT fhdel & e
IR, WAL F 7 i 3fATFT (TFEIAA 316 SeiTe) Jane= & o, Fa
HTdSTfoteh JTA0T Gicel (Heel Ufscieh TFIIHT GIcel) W TUT AAAHE $-ATheCold T Teh

TS TS FehTRIC T ST TTfeT?
(a) 10 T 39
(b) 15 oG 39
(c) 20 T T
(d) 25 G 3T
92.

The process in which technical bids and financial bids are called for in separate sealed
envelopes and the financial bids of only the qualified technical bids are opened and evaluated
is called:

(a) two bid system.

(b) two stage bidding.

(c) single bid system.

(d) multi bid system.



g utshaT, To@e dereiteh! aiferdr 3R facd SIfeT 31eer-31e1eT HAlglsc folhwhl & AT
ST § 3R haer 3rédriTed (A1) dehstiehr aiferd S facdar siforar @rel 3 Aeifera
I AT €, AT P & 2

(a) GFASTelT FOTTCHT

(b) & TR drelr

(c) Tehol dlell FOTTST

(d)a'ga’l?»?rsrwra?r

93.
Separate accounts have to be kept for fixed assets such as plant, machinery, equipment,
furniture etc in the form:

(a) GFR 21

(b) GFR 22
(c) GFR 23
(d) GFR 24

Ex gREFacaal A & @97, AR, 30T, Bl 3117 & oI 37e19T-37c19T ol @,
fra B A @I g g

(2) GFR 21

(b) GFR 22

(c) GFR 23

(d) GFR 24

94.
A contract for supply of materials at specified rates during the period of the contract is called:
(a) Fixed Contract.

(b) Rate Contract.
(c) Works Contract.
(d) Running Contract.

g afdar, foras @faer it 3afer & e Afése gt ox vared (@) $r 3mafd &,
Hgelldl 8?

(a) Traa Gfder

(b) & Hfder

(c) FRT (FHATOT) Gider

(d) =T e



95.
The practice of buying materials in a quantity exceeding current requirements, but NOT
beyond actual foreseeable requirements is called:

(a) Speculative Buying.

(b) Forward Buying.

(c) Hedging.

(d) Tender Buying.

HISIeT a3 & 31T AT #, fohq ST aEddeh qaTTARTAETT ATt &
3178 o &Y, TN @I T TG Tl FAT FHgdllal 62

(a) 37cahol (TET) WG

(b) 3TIAdr WG

(c) STARET (SaTq cTaET)

(d) Afder @l

96.
As per GFR 2017, what does the term “Original works” mean?
(a) Works undertaken to maintain building and fixtures

(b) Works which add capital value to existing assets but do not create new assets

(c) Services or goods incidental or consequential to the original or repair works

(d) All new constructions, site preparation, additions and alterations to existing
works, special repairs to newly purchased or previously abandoned buildings or
structures, including remodeling or replacement

GFR 2017 & 378K, '#eT f#ATOT 1" U o1 T 319 82

(a) 37deT 3R S[SART o 3[R&TOT o ford IIRFST fohd I 1y

(b) T THATOT &R S Hisger REFafcadl # Jelerd AT (o) Shsd ¢ fohg w7t
aREFdfeaar giod 781 wid

(c) FA 37U FIFAT Hrdl & o grafaren ruar sregact (aRome) drarT 3rzar
Jarv

(d) T3t 72 TAHOT (TTATT), T wae, Higlar AT st 7 aRatler 3 heea,
7Y GG T A7 Ig § OIS U (ARIF) HaAl 3720aT FAATHT I e
A, ToHH R & IR T 312aT 9faedmdeT (Sedrd) e QA &




97.
As per rule 133(1) of GFR, 2017, what is the limit up to which a Ministry or Department at
its discretion can directly execute repair works?

(a) Up to Rs. 30 Lakh

(b) Above Rs. 30 Lakh and up to Rs. 50 Lakh
(c) Up to Rs. 40 Lakh
(d) Of any value

GFR, 2017 & 9@ 133(1) & 38R, a8 AT 41 8, TSI deh Teh ATl IT T 39t
fade & FXFAT FEt a1 WY (TcgeT) [AsarieT T TohdT g2
(a) 30 oG ¥9F I

(b) 30 T & 31T TUT 50 @ FIL dh
(c) 40 TG T9F dh
(d) e sfr e

98.
As per GFR 2017, what is the retention period of the Pay Bill Register?
(a) 20 years
(b) 25 years
(c) 30 years
(d) 35 years

GFR 2017 & 37T, dctet faiel (I foer) ITSIEex S gfaemor safer = g2
(a) 20 aY
(b) 25 a¥
(c) 30 aY
(d) 35 Iy

99.
Expenditure statements in respect of Department itself are to be weeded out after:
(a) the Finance Accounts for the year have been finalized.

(b) the Appropriation Accounts for the year have been finalized.
(c) the budget has been passed.
(d) the Finance Act has been passed.



eI & TaT & T & =7 IRl T TeTs e H ST 82
(a) AY & faccd @3t &t 3ifaw &9 Y I & a1
(b) aY & RAfATISTT @3t &1 3ifasd & A St & &1
(c) §1C & UTRd &Y STTeY o &g,
) g sRFTaE F R T FHarg

100.
Rates of Guarantee Fee for borrowing under inter corporate transfers envisaged in the Annual
Plan as specified in GFR 2017 is:

(a) 0.25%

(b) 1.00%

(c) 1.20%

(d) 2.50%

TSR Arotell H 3Teeli&d 3AT-Hedsil IHaRON o 3ceid IURY & oI IRET B T &3,

ST R GFR 2017 H [Afése &, Fam g 2
(a) 0.25%
(b) 1.00%
(©) 1.20%
(d) 2.50%

101.
Which one of the following Articles of the Constitution of India mentions about the
Contingency Fund?

(a) Article 266 (1)

(b) Article 266 (2)

(c) Article 267 (1)

(d) Article 267 (2)

HRA & AU & [AFfaf@d # @ Hl @ 31eTeoe H IR TARAT A & TR J 3eorg
g7

(a) 3TeTTBe 266 (1)
(b) 3TeTTDE 266 (2)
(c) 3rTese 267 (1)
(d) 37T 267 (2)



102.
When the maintenance of any rentable building is entrusted to a Civil Department, other than
the Central Public Works Department, who from the Department concerned will be
responsible for the due recovery of the rent thereof?

(a) Head of the Office

(b) Head of the Department

(c) Drawing and Disbursing Officer

(d) Pay and Accounts Officer

STE o WX 33 19T foRell 79T T T@-TWTT Hal lich fAATOT fa#Ter & 3rermar fondly
TaTder fasmeT &t |iaT SI7eT &, oY 38 [ < 37 el o o Haferd fastmer @ shle
fSFAaR grem?

(a) FIATET FHT (T

(b) faeTmeT yor

(c) 3107 UF HTAAROT TR

(d) AT T T HTAHRY

103.
With regard to the general principles for the award of Grants-in-aid for Centrally sponsored
schemes, which one of the following is NOT correct?

(a) Every Centrally Sponsored Scheme should have a time-bound quantifiable and
measurable outcome targets with provisions for periodic monitoring, mid-term
evaluation and detailed impact studies

(b) The scheme should be designed in consultation with States and Union Territories

(c) Where schemes are in operation with similar objectives targeting the same population,
the schemes should be converged

(d) The Ministries / Departments should focus attention on the expenditure only

che; IS AT & T FETIT 3ielereil o e et & HA=T fAgidl & daer &,
frfafaa & & Far Tdr agi 82
(a) g IRNTAT T AP ASTAT & TRAT FURT Fa Ao 3R AT e geaTee
aRUTE @& gl =18 T, STgl Maftish 3eTdiaior, HEAafe Hedihet 3R A&
THTT 3TETTT & T ITaene gl
(b) TNSTAT T HTAFeT TTT 3R TG AT §731 & AT A dh JIR fhar ST
T
(c) ST81 38T SITHEAT T T Fleh [HeTd-STeldd 38T aTell ASTATd TelTAT ST TET &,
IET ST ASAAT3HT & f&er & Trfew
(d) FATTT / FIHTIN Y ol T X EATT higd HAT AT,




104.
Suppose the Ministry of New and Renewable Energy is in the process of issuing a sanction
order for release of non-recurring grants to an Institution. Utilization Certificate in which
Form should be insisted upon in the order sanctioning the Grant-in-aid?

(a) Form GFR 12-A

(b) Form GFR 12-B

(c¢) Form GFR 12-C

(d) Form GFR 13
A NTSAT Fdle 3N FANFONT ST HATerT fhdl HEATT T 37ATacl 3Tl STy
A & ToTT Teh HoT 3TEer SIRY et hl s H §. TR 3HeJeled & Ho v St &

3 A T 997 H 3UANRT YAHTOT-UF & S1er & T 31191 fonam ST anfge?
(2) T9F GFR 12-A

(b) 997 GFR 12-B
(¢) 999 GFR 12-C
(d) 999 GFR 13

105.
What is the maximum one time grant that can be sanctioned for setting up of a Recreation

Club for the Government Servants?
(a) Rs. 25,000

(b) Rs. 50,000
(c) Rs. 2.5 Lakhs
(d) Rs. 5.0 Lakhs

TIHRT Adehl & [ Teh HARSIeT FeId Sl TATTAT ] Tehel o ST Tehel dTel TehaRid
37geTel T JTerehc HIAT T 87
(a) 25,000 T

(b) 50,000 T
(c) 2.5 oG ¥9Y
(d) 5.0 JTE TIY

106.
In case of guarantee fee, it should be levied:
(a) before the guarantee is given and thereafter on first April every year.

(b) after the guarantee is given and thereafter on first April every year.
(c) before the guarantee is given and thereafter on first January every year.
(d) after the guarantee is given and thereafter on first January every year.



IE BT & ATHS H, g 39T hd ahl ST A8 T 2
(a) IREY S T Tgel TUT AT 91 7 Tcdeh ¥ Ugell 379l i
(b) ITREY S & qTE, AT T a1g H Tcdh a¥ Tgeil 379el hr
(c) IREY S T Tgel IUT T a1 7 Ucdeh ¥ Ugell STeTadl i
(d) ITREY &1 & TG, AT T a1g H Jcdeh IV Tgell STeTasl hr

107.
Who among the following manages the public debt raised by Government by issue of
securities?

(a) Department of Expenditure

(b) Department of Revenue

(c) Reserve Bank of India
(d) Controller General of Accounts

gfastfaarl ST e WXN GaRT il Hdsiieleh ROT Tehd fohdT STl &, 3HAT JaeT
frafaflaa 7 & fraes garr forar smar &2

(a) eI fasImer

(b) TroTEq fadTeT

(c) AR Rera s

O ERGICIRGEEED

108.
Who among the following is responsible for prescribing the form of accounts of the Union
and States, and to frame, or revise, rules and manuals relating thereto on behalf of the
President of India?

(a) Comptroller and Auditor General of India

(b) Controller General of Accounts
(c) Chief Controller of Accounts
(d) Controller of Aid Accounts and Audit

9 3R TS & @13l & 997 [AUTRT e & o, TUT AR & Tsgufa dr 3R T 54
Tefta fgaT 3R Agamaferar @ IR &t 3rear @enftad @ & o), Heafaf@a &
q FleT ScdTerT glar &2

(a) IR & [T Ug FAgre@ma{igTh

(b) HgTer@r g

(c) HEY oGl AT

(d) TETIAT, I ET JAT T 9ieTr a3



109.
Charges on maintenance, repair, upkeep and working expenses, which are required to
maintain the assets in a running order as also all other expenses incurred for the day to day
running of the organization, including establishment and administrative expenses can be
classified as:

(a) Capital expenditure

(b) Revenue expenditure

(c) Voted expenditure

(d) Charged expenditure

3TIRETOT, FRFHA, HaTTeT 3R HATele] < oh THR B, Sl TREATTcTal Y Teh dlef vl &
FAY TWeT & T 3MaeT® 8 &, 3R 380 ITaRed 916 & SAfe FrIaree & ford
Y 3T @It & <IT FI, TaH T AR gemafas oo o anfae §, fofa sa &
qaffepe fomarm ST HheT & 2

(a) Gl o

(b) IToTET I

(c) GedHAd ST

(d) THTRT eI

110.
Debt charges for which the Government of India is liable including interest, sinking fund
charges and redemption charges, and other expenditure relating to the raising of loans and the
service and redemption of debt can be categorized as:

(a) Capital expenditure

(b) Revenue expenditure

(c) Charged expenditure

(d) Voted expenditure

FHUT THR T, TFaTeh o 9RT TIPR 3caier §, f9a#d sare, ko1 e A game 3ik
AT 9, 3R 31T 7T S HK0T aHa 3 QA0 FaTa JA1 HUTAET & GafUd §,
A &, o &9 & gaffepct foham ST Hpar 8 2

(a) Gl I

(b) T =TT

(c) THTRT T

(d) EcdHd =TT




111.

Consider the following statements regarding re-appropriation of funds:

1.

2.

4.

Re-appropriation of funds is subject to the provisions of Rule 10 of the Delegation of
Financial Power Rules

Re-appropriation of funds shall be made only when it is known or anticipated that the
appropriation of the unit from which funds are to be transferred shall not be utilized in
full or that savings can be affected in the appropriation for the said unit

Funds can be re-appropriated from a unit with the intention of restoring the diverted
appropriation to that unit when savings become available under other units later in the
year

The authority sanctioning the re-appropriation shall endorse a copy of the order to the
Accounts Officer

Which of the statements given above are correct?
(a) 1,3 and 4
(b) 1,2 and 3
(c) 1,2and 4
(d) 2,3 and 4

fAfert & gefafaater & deer # Aefai@d Fye ) R RS

1.

ATt &1 gofdfaates, facdia afedaal & Hat & Jeardiee & @@ 10 &
qIaYTel o 37T &

TR &1 qATATAATSTo sharel e &1 fohaT STV ST UG FATC &1 312aT JeATiRId &1
T 3% werer 1 faforaitarer foraet & fafer a1 3iaror fovam et &, ot oig & 3o
H T IRAT ST 3720aT IE O 3Fd Toheh & fod RfAAe s & s9a yanfaga
&1 Tohcll § (ST T ST TohdT )

fonell Teheh & TR o1 qeAfafaalsteT s& 3T & |rY fohar ST dehar & T S
aY & 91¢ # 3T Uehehl & AN T 3Telet RN dd GEY SIH H @I a1
YeATd T aToTeT Y S8 Teheh H JoT-TUTUT Y fem Srwam

YT T aTsTel T H[{l ot aTelT TEIhRY, TERT Sl Teh Fic el om TRy i
gSSifehel

FRRA T A F A T T E

(a) 1,3 3R 4
(b) 1,2 3R 3
(c) 1,2 3R 4
(d) 2,334



112.
As per GFR 2017, cases involving serious irregularities have to be brought to the notice of

the Financial Adviser or Chief Accounting Authority of the Ministry / Department concerned

and :
(a) the Comptroller and Auditor General of India.

(b) the Controller General of Accounts.
(c) the Chief Controller of Accounts.
(d) the Controller of Aid, Accounts and Audit.

GFR 2017 & 38R, R IfAATATATIN arel A T FfT Harerd / fasmr &
faecir FeTgeh 37UaT HET o ET YITHRT Sl STAhRT H oflel & HIU-H1Y 3R foharehr
ST & oITAT STAT 81T & 2

(a) IR & g9 Uq FAgre@m{igTh

(b) HeTer@r g

(c) HEY oGl AT

(d) HETIT, SIET JAT @ 9R7eTr a3

113.
What is the threshold value beyond which all losses of Government property due to suspected
fire, theft, fraud etc. need to be reported to the Police Authorities for investigation as early as

possible?
(a) Rupees Twenty Five Thousand

(b) Rupees Fifty Thousand
(c) Rupees Seventy Five Thousand
(d) Rupees One Lakh

dE IAHAT Fed FT & T8 W THRT Aafeaar Hr qalr grfarar 1, s afesy 31,
°RY, e 3T & HROT g3 &, Menfasiier s & ford g el s Rare fomar
ST 3Ta2Th &2 ”

(a) T GoIR 0

(b) IITH &SR I

(¢) TG §oIR T9T

(d) Teh o 39



114.
As per GFR 2017, security need NOT be furnished in which of the following cases?
1. Government servants who are entrusted with the custody of stores, which in the
opinion of the competent authority are not considerable
2. Government servants, who are entrusted with the custody of office furniture,
stationery and other articles required for office management, if the Head of Office is
satisfied about the safeguards against loss through pilferage
3. Drivers of Government vehicles
4. Cashier
Select the correct answer using the code given below:-
(a) 1,3 and 4
(b) 1,2 and 3
(c) 1,2and 4
(d) 2,3 and 4

GFR 2017 & 38R, e f@d & & fohet #Aerell 7 Gfs{fcy oot T 3maearehalr A8l gici
g?

1. TR Adsh, e R (@ma) fr 3fAcem @eon aidy =i &, s ge1s
STTRIehRT <l T H AgeaqoT (Taamofi) =181 &

2. WHRT Aash, Seg FREATEIT BN, @ FHN 3R PRI ga9 & o
TS HeT TE3T T 37TATET Al a1 &Y, I 3or$aMdy & FAversr @ @Y vy
glfeY o RTh T&NATAT & aR & HATerd TG HJSC §

3. EPRI ATgAl o dTeleh (33aX)

4. YTl

A1) fe I e T TN AT Tl 3ok IAT:

(a) 1,3 3K 4

(b) 1,2 3R 3

() 1,2 3K 4

(d) 2,33R4

115.
Register of Assets of Historical / Artistic value is kept as per which form of GFR -2017?
(a) Form GFR 22

(b) Form GFR 23
(c¢) Form GFR 24
(d) Form GFR 25



e / Farcas FAgca Fr aRTFIfcaar (A Fr TSEeX, GFR -2017 & Fa

99 é?aagau @1 SATAT g 2
(a) 99T GFR 22

(b) 97 GFR 23
(c) 997 GFR 24
(d) 997 GFR 25

116.
Where do you find the rules regarding the destruction of office records connected with

accounts?
(a) Appendix 8 of GFR 2017

(b) Appendix 9 of GFR 2017
(c) Appendix 12 of GFR 2017
(d) Appendix 13 of GFR 2017

3T A S §T AT AHRET T ¢ He Foel [T, 3Taehr Fgl el
(a) GFR 2017 % gRfse 8 &
(b) GFR 2017 & gRfAse 9 7
(c) GFR 2017 » gRfAsT 12 H
(d) GFR 2017 & gRfse 13 &7

117.
As a convention, what is the period accepted by the Central and State Governments for the
re-audit of past transactions involving errors in classification?

(a) 1 year

(b) 2 years

(c) 3 years

(d) 5 years

Teh IRUTET & TF &, WSl deT-3all & ToAEroiieior & ford, forered aaffentor #r Ffear
M §, FET 3R VT THRT gaRT T 37afe 1 82

(a) 199

(b) 2 a9

(c) 3a¥

(d) 539




118.
Name the authority to open a Personal Deposit Account:
(a) Department of Revenue

(b) Department of Expenditure

(c) Ministry / Department concerned in consultation with Controller General of
Accounts

(d) Ministry / Department concerned in consultation with Chief Controller of
Accounts

Teh ST TFaTel STAT Wl (T¥Tel F3UITSIe 3eh13e) Wielet & fod hlet TTfIshel § 2
(a) ToTEq fasmeT
(b) eI fasImeT
(c) HETIET g9 & qHY & Fafad HAATAT/fIHTT
(d) FEF T TR & RIHAN @ G Harerg/fasimar

119.
As per GFR 2017, who is the officer entrusted by a Department of the Central Government
with the responsibility of controlling the incurring of expenditure and / or the collection of
revenue?

(a) Drawing and Disbursing Officer

(b) Accounts Officer
(c) Revenue Officer
(d) Controlling Officer

GFR 2017 & 38R, 98 fUFRY T ¢ 5T ey TR & Rl [qemmar ganr o9 &
39T Tohar STTel TUT/37UET ASTET T HIEUT fohdl ST & TdT=0T &7 Seaaraed Eiar e

&7

(a) 3TTEIOT 3R ATAAOT ITAHRT
(b) T 3TTRRT

(c) ToTEg HTARRY

(d) AT 3Ry

120.
Out of the following receipts, which one is a Revenue Receipt?
(a) Disinvestment Receipts

(b) External Debt
(c) Repayment of loans and advances made by the Central Government
(d) Dividends on equity investments of the Central Government



fArafafaa megal & @, #ia @Y v Tereg wita &2
OREIGENRIESEI
(b) Tacefr For
(c) FET TIHR @RI foham 31T FOM 3R TAAT AT GAsTITcTeT
(d) FET TIHR & STFaeT fael g areqrer



